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d
Egﬂx)

1 1 1 1
2 (6)
0<x

2 2
_120e * 300e * 144¢ * 16e *

6 8 o 10 + 12
X X X X

taylor (In(x),x=1, 10)

x—l—; (x—1)2+;(x—1)3—(x—1)4+ (x—1)° = — (x—1)6+; (x (7



—1)" - i (x—1)8+i x—1)7 +0(x—-1")

8 9
himxox— 1=~ 1P 4 xm 1P =~ = 1)~ = 1) =~ = 1)+~ (x
2 3 4 5 6

(LA B SRR

—1)—8(x 1)+9(x 1) :

plot([h(x),In(x)],x=.01...99)
X
| O.‘l | O.‘2 | O.‘3 | O.‘4 | O.‘S | O.‘6 | O.‘7 | 078 | O.‘9 |

11
_27
_37
_4—

]
pi=x— X3 +208 —8 P +3x+ 18
xox 435 +2x8 — 8 +3x+ 18 (8)
taylor (p(x),x=0,3)
18 +3x—8x +0(x) )
taylor(p(x),x=1,6)
19410 (x—1)+26 (x—1)"+24 (x— 1) +8 (x—1)* + (x—1)° (10)



